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Tests 1000BaseT 100BaseTX 10BaseT

Core  (Template (A, B, C, D) Template MAU Template
Peak Voltage (A, B) Amplitude TP_IDL Template (6)
Level Accuracy (B, C, D)  [Overshoot Link Template (6)
Droop (F, H) Amplitude Symmetry Amplitude
Transmitter Distortion Rise and Fall time Jitter (0, 8, 8.5BT)
Retum Loss (85, 100, 1150)) [Rise/Fall Symmetry Hamonic of 1
Common mode Voltage  |ditter Return Loss (85, 100, 1150)
Jitter (Master, Slawe) Duty Cycle Distortion Common mode Voltage
Jitter (Filterd, Unfiltered)  |Retum Loss (85, 100, 1150)
20 tests/pair = 80/port 12Iport 22lport

Special (Bt Error Rate Bit Error Rate

Other  |Common Mode Rejection  |Common Mode Rejection | Common Mode Rejection
Impedance Balance Transformer Droop Fault Tolerance
Crosstalk Noise Rejection  [Adaptive Equalization
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Amplitude, Droop, Z12l12 Distortion)

Tektronix Oscilloscope
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To Oscilloscope

- 100BaseTx 2|2 HAE A& (Template,

Amplitude, Time, J2l2 X&)

Tektronix Oscilloscope

To LINK PARTNER

LoAD 1[s®]3650
LOAD 2[ws] 1760
LOAD 3[a] y7:
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- 10BaseT JI2 HAE && (Template,

Amplitude, Jitter, 12|22 Harmonic)

Tektronix Oscilloscope

To LINK PARTNER

LOAD 1 [#8] 3650
LOAD 2 [@a] 3750
LOAD 3[@8] 761
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